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Note:

, (r) All the four questfons are compulsory. .

. , (ii) AII the guesfions carry equal weightage.

1. Ansurer the following question in about 600 words.

U/hat relationship do you perceive among the three pairs
of ernluation approaches ?

i. o formative - summative,
o internal - a<ternal,
. norm-referenced - criterion-referenced,

Explain each in brief.

OR

' Identify and explain the three domains of the instructional
objectives. Further, mention and clarify the levels of
classification of 'any one of the three domains. Provide
examples for different levels.
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2. Answer the following question in about 600 words.

Explain various types of ualidity. Also, discuss the extrinsic

and intrinsic factors influencing the relisbility of test scores"

OR

What do you understand by 'objectiuity as a criterion' of

a good evaluation tool ? How will you ensure it ?

3. Answer any four of the following questions in about

150 words each :

(i) Mention types of objective type questions with

examples. Also point out their merits and demerits.

(iil What are question banks ? Discuss briefly their use in

students' evaluation.

(iii) Briefly discuss the functions, advantages and

disadvantages of continuous evaluation.

(iv) Give the application and use of Normal Distribution.

(v) Explain the difference between evaluation, assessment

, and measurement.

(vi) 
:::,i:"ih:h;"ttrJri ;:''i;i;f:';i::' 

or

(vii) Practical tests generally become farcical. As a

practising teacher, how can you make them

meaningful and purposeful ?

#
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4- Answer the following question in about 600 words.

Choose a teaching-unit of the subject of your choice of
class IX. State its objectives in the three domains. Mention
the types of suitable tools for their assessment and prepare
three test items for each domain.
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2. ffi TFT 6r sfl-{ wrrlrT 600 {rd, fr ffqq I

dqar t Bfiffi Hfifi *1 qrcq *1Rq r qereilry sffi
q1 ffi c xqrFqd s,G qT-a qrfl qq slTntrs
;RC s1 q1 tu+il{T dfqq I

sTstitt

qs qEd Tflte;{ swn{ur fu 
'Ft-dq t Fs fr

ryFger' t s{rq wr qrrae t ? s{N {S B-s
]FFR gtrR.Em stt ?

3. ffi qrdl fr t r*=fr arsr sd-{ t r xdo srn
drrqq 150 qrc 6I A :

(i) rcFrg rrd] t xm.rif qT sildwif qFo s+q
+1fsq r sq* drE) siT qtqrcil s) q1 iFrd
*tfqq I

(ii) r-$T +s t qzTT sTfiTqrq t ? RTenTfffi t {rqisr
fr qqt sqqt'T si {@ HlqiT dfqq I

(iii) ffird tetfiq t sr4, drrr w {tqreif qt {iRi=n
fqa-dl tfu |

(iv) qrqr;q Ei-crT sI sq"ilrr sflT sq),T qfuq I

(v) Tiqisq, Bdtrrcrrr s*{ qrtrr q Rqq {Tg df-qq
(vi) {r€-smr;q Igttq' sr 3Tr$mdq qH -1 3+{ +1 t

dq E1 w] frnr t ? fr+qqT dfqq I
(vii) nTqlFrfi TfrenTq qrq: qrrmn s] {6 qrfr t I

qldm frrqns t Fq fr sTrrr q+ sqdrfr erh
stlzr1lt s1t t fu eqr s-{il qrt} ?
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4. ffi wT s'r gn{ drr,il 600 qrdi t {rqq I
i

t'lY.|T Eiq "r, iqq-q q H rF, {s'fq sqTI IX s^ rf,q

dis qitqq I Fffi silrnd{ + rdq lFqis{
sqs{u} sT sds effqq $il{ nds tuT t 1at
di;i Rllqrl :t-FT FIIrtf, 6]-fqq I
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